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Shall we say that — 5915 ROINTY 3K 2IPR2 TTVINK 929 2977 KRR
>21 holds one liable for a 57790 together with the ax, but we learnt, etc.

OVERVIEW

The Xn>>72 stated that 27 1s 217 if one threw an object from a °"77 to another "7
and a 1"77 was between them. HXmw MR 777 27 said that °27 was 2»nn him for
two 2°Mo°X; for 1IRXYT and 170157, X 27 asked, does this mean that °27 is 2°°n» for a
7790 (70107) together with the 2X (7X¥17). Our M»doIN clarifies this assumption.

mooin asks:
= AN DIPNA NTINN 29NNT NP RIN 1H799 139324 29D AYPN

n712 7"'7 asked how does X1 27 know (from the ruling of 2X1w 7k > that 21

°nw °27 7°7) that "2 is a8 2pRa T7TINR 2907 -
= 299 9939 9TNY I YWD 139N DINVY ANNT RN NN

Perhaps this which °27 is 2'nw 2% is where he became aware of one

transgression and later became aware of the other transgression -
- SHNN DYPNA NI NIRIND ITIAN 299N1T 2WIPY W 1IN %297 NNNIYDI)

And this is dependent on the dispute between "2 and %", where > is 29
even in a case where he carried out once and carried out a second time 2%y2
NAR, and PXw K " agrees with ¥ —

NID0IN answers:
= DNV 2NY YITIN DIV NYNRYN NN 29 N5D KD )5 ONRT PNYY 13929 99IN)

!'See Hax 7"7 R, X1 MoON where N9 A0 277 is mentioned. (See 's MR 2°91737 oW # 2X that he was the son of the
2"aw" and called n"19 based on the 7109 (in 23,u7 [*n™] N*wX12) which reads 7o N5 12).
2 When the person threw the object ¥¥axa 3" "7 "7 n, he was not aware that 701371 ARXYT are 70X on Naw.
Afterwards, he first became aware that 7x¥7 (for instance) is Mok on n2w (but he was still not aware that 70157 is
710R); at this point he is 21 one nkvn for Ax¥1T. Later (before he brought [or even designated] the nkvr) he became
aware that 7101277 is 10K, so now he is 21 another NXvn and cannot be forgiven for the 701377 with the nxvn which is
due for the nxxy1. This is called mp2nn NMY*7°; once one is aware that he transgressed an Mo°X which requires a nXun,
this nXvn can forgive only for the 77°2y which he was aware of at that moment in time, not for any other 7772y,
which he will become aware of later, even if they were both done 7% 0%¥13. See following footnote # 3.
3 See previously 2,8y where (according to one version) >'1 maintains MpYin My 7, while "1 disagrees.
4 He carried out twice on naw, unaware that 7iX¥17 is forbidden. If he later became aware that x¥17 is forbidden and
realized that he carried out twice, he is 211 only one nXun, since he became aware of both mRxy7 simultaneously.
However if he became aware only of one 1&x373, and later became aware of the other, according to *"3 he will be 211
two mxwn, for mponn My 1. We see that even by the same 2 he is 21 twice, so certainly if it is an 2% and a 77710 he
will be 211 twice. This is not considered 2R Dp»2 77210 since the My>1> are Mpna. Everyone agrees that if he first
did n&x¥17 and became aware of it on that same naw, and then he did 1701277 on that same naw, that he is 217 two MRV,
since there was a 0»n12 7y°7, similarly according to "3 the nv>7 later is also np2nn (even though they were done
nnx 09va3). See ‘Thinking it over’.
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And the "' answered that if indeed this is what R%w 91K "3 means to say, 29

7711 would not be teaching us anything new by saying that he is liable for two;®
for XX and for 70157 -
$AN DIPNA NTINN 299N1 2297 1PYNYND NN TIN5 Y

So perforce one must say that X1mw "X °"3 is coming to teach us that 529 is
29972 on a 2N QPR 77N,

SUMMARY
There is a w171 only if we are told that a8 21pna A77INR 20K, but not that my*7
nponna.

THINKING IT OVER

MooIN asks that perhaps he is °nw 217 because it is a case of Y71 M ¥71, where
he is o°’nw 271 according to > even in a case of NAX DYYa2 RXIM UM X¥I.°
However one may argue that by XX1m 2t X% he did two separate actions
therefore we can say mphnn my>7°, however here where he did only one p>71 nwyn,
perhaps even >"1 will agree that my>7> are not nP%nn (especially if we maintain X%
AR QPP ATINK 270n)?7

3 HRMW R " states that he is 7017 QWwn DRI AR OWwn IR 0°nw 200; if his whole intent is to tell us that my>7
mponn it has nothing to do with 7013771 AR¥IT since "1 maintains NP2 MY even by the same 7x¥Y1. At most "™
SX1Mw R should have merely said 331> 13 7597 that Mponn N7,
% See footnote # 4.
7 See Nk NOW.
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